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Choose the correct option for followmg questions. Ah the Ouestions are

2. compuisory and carry equal marks
L. The cost of a spanning tree is equal to:
Option A: | The sum of costs of the vertices of the tree
Option B: | The sum of costs of the edges of the tree
Option C: | The sum of costs of the edges of the graph
Optien D: | The sum of costs of the edges and vertices of the tree
2 The class of decision problems that can be solved by mnon- dotermxmstlc
polynomial algorithms are cahed as.
Optiecn A: | NP
OptionB: | P R
Option C: | Hard
Option D: | Complete
3. Reorder'the following con1p1ex1ty from smaﬂest to largest
1. n loga(n) s ~
2. gt S
3, 24
4; n
Option A | (1.2,.3:4)
Option B: | (2.4.3,1)
Option C:- | (3,4.1,2) ©
Option D: | (4.3.1,2)
4. Which of the following problem can be solved using greedy approach?
Option A: | N-queens problem
Option B: | All pairs shortest path problem
Option C: | Job sequencing with deadlines
Option D: | Multistage graph problem
5,

For the following graph, choose the correct order(s) in which edges are getting

selected to form a minimum spanning tree using Prim’s Algorithm
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Option A: | (1,6), (3,4), (2,7), (2,3), (4,5),(6,5)
Option B: | (4.3), (3,2), (2,7), (1,6}, (6,5), (5,4) -
Option C: | (5:4),(4.3), 3,2), (2.7). 23). (4,5)
OWmD:(M&@ﬁﬁAWBL&AQ@R,f
6. Apply Quick sort on a given sequenee 6, 10, 5, 11, 25. What is the sequence after
first phase, pivot is middle element? T SR S TS
Option A: | 6, 10, 5, 11, 25
Option B: | 5,10,25,11,6
OptionC: | 5,6, 10,11, 25
Option D: | 25,11, 10,6, 5
7. The optimal solution for 4-queen problem is -
Option A: | (2,3,14) ~ . VB B TS ~
Option B: | (2,4,1,3) Sy
Option C: | (1,3,2,4)
Option D: (3,1,2,4);j '
8. 0/1 Knapsack can be solved using
Option A: .| Greedy Method S e
Option B: | Dynamic Programming -~ .
Option C: ~ | Back Tracking -~ .~ .= .
Option D: «'| Branch and bound
9.0 = | In which technique the previously calculated values are stored in memory
Option A:" | Dynamic Programming 2
~Option B: - | Greedy Approach -~ - - N
Option C: | Divide and Conquer - o
Option D: - | Backtracking
10 Which of the following is a sub string of AABACDDCEBCAAC
OptionAx CBADRY S 4%
Option B: || ABCC>
Option C: | ABCD
~OptionD: | DCBB
v Q2 » Solve any Four out of Six S marks each
(20 Marks) .
A Define Master Theorem. Solve T(n)=T(n/2)+n? using master method
B Write an Algorithm to find shortest path using dynamic programming,
C Write short note on optimal storage on tapes.
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D What is Backtracking? Explain how it is used in Graph colormo -
Apply Rabin Karp string matching on following strings
E Stringl: AABABABCBCACABC
String2: ABC B N
F Define Asymptotic Notations. * ¥ SR
Q3 Solve any Two Questions out of Three FESS 10 ﬁmﬂgs each
(20 Marks) N &
A Explain sum of subset problem usmg backtrackmg approach
Find a minimum cost path from A ‘to- L in the followmg mul‘ustage
graph " e
V1 V2 V3 V4 V5
B 7
8
e
C * | Explain KMP algorithm with Exampie.
Q4 ; Solve any Two Quesﬁons out\ 'offT hi’fe'e 10 marks each
(20 Marks). : 3
A | Sort the following array uamg LluICkSOI‘t algorithm:
PR (10,5559, 18,0 307,50 4
B - Define: P, N’P,\NP—COmplete' Classes.
S C'\“\ | Solve Fractional Knapsack Problem,
"% | =5, p=(15,8,11,9,5) w=(8,3,7,5,3) m=18.
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